Y

w\ St /
8ied VX _sienul siopanq aimeubis @ w3
J\w} §- Aq panouddy

bres ~ Imoijoe

i - ] - ) =g
000$ | ‘ - B 8z

000$ |0bS0$ |2 0 loyo| 2

00'0$ [0¥S0$ |1 0 J8yj0| 9C

000§ |OvS'0$ 91°8C 0 021y 09)80D| 5T

00’ om ~ |0PS0$ |bZ6C 0 021Yy9 samo| ¥z

000$ |0VS'0$ |8Z'L 0 Bujuio) asempieH a9y €2

000$ |0¥S0$ (98T 0 B 8AY YInog aiempleH 39y e

000$ |0¥S0$ (90 0 Buiuion Jaquin Buluion| ig

00'0$ OPS'0$ CEGL 0 puepQ s2qun- Buiwos| oe

000§ OPS0$ 9€'6C 0 021y9 Jodaqg awoH| 6}

00'0$ |0¥S0$ |28°0C 0 ~ ynig pay jodag awoH| 8}

s|elol| ofNJod]  ebes|in| sewil Jo # ~ ejeq L1

9l

1 LL1LES Sl

0005 |0¥S0$ T 0 10| vt

000§ |(0¥S0$ |1 0 aylol €t

0008 |0¥S0$ |91'8C 0 021y) 09509 [ 21

00°0$ |O¥S0$ |LZ6C 0 021Yy9 somo| |1

000% |0¥S0$ |8C') 0 Buiuion atempleH ady| 0l

00'0$ |(0OvPS'0$ 98¢ 0 aAY UYINog aiempieH 99y| 6

000 |O¥S0$ 90 0 Buiuion Jequn- Bujuion| 8

000¢ |0¥S0$ |2ESL 0 puepQ 1aqun- Buiuiog| 2

LL'LES |0PS0$ |9€°6C 4 91L02/9L/LL 091y9 jodaq awoH| 9

000$ |0vS'0$ [280Z |0 ~ | snig pay jodeq awoH| S

s|ejol| 9N Jed abes|i|p]| sewl] Jo # a1eQ W

€

910Z/0E/LL L O3 OL/L/LL 31va 2

}

7 I H 4 3 a 9 a v

abes|iN




